
3 6 0 Y I E L D C E N T E R . C O M

360  B A N D I T™  
U P D A T E D  S U P P O R T  S T R A P 

W H I T E  9 0 0 0  M O D E L S

• • •

3 .12 . 2 0 •  V 1

3
6

0
 B

A
N

D
I

T

•••

All trademarks are the property of 360 Yield Center, its affiliates and/or its licensors. ©2019 360 Yield Center. All rights reserved.

F O R  Q U E S T I O N S  P L E A S E  C O N T A C T  O U R  
P R O D U C T  S U P P O R T  T E A M  A T  3 0 9 - 3 0 0 - 3 1 2 0 



Keeping the BANDIT arm assembly in place 4 over the 
extension bracket and ensuring the  BANDIT arms are 
facing the rearward direction, reattach the BANDIT arm 
assemble to the extension bracket using the (2) 3/8” x 1-1/2” 
bolts and 3/8” flange nuts 2 that were removed in the 
previous step. 

 

We have developed a different style of support bracket for 
BANDITS on  White planters. This bracket provides more 
support for the closing system than the bracket provided 
with your BANDIT system last year. 

If you have already fully installed your 360 BANDIT units 
on your planter, please follow these instructions to replace 
last years support strap with this new one. 

Remove the stop bolt 1 and the remaining (2) 3/8” x 1-1/2” 
bolts and 3/8” flange nuts 2 that secure the support strap 
3 to the row unit and BANDIT arm assembly. Retain the (2) 
3/8” x 1-1/2” bolts and 3/8” flange nuts. 

INSTALLATION INSTRUCTIONS
UPDATED SUPPORT STRAP - WHITE 9000

2

WHY UPDATE THE SUPPORT STRAP? STEP 1
REMOVE OLD SUPPORT STRAP

STEP 2
RESECURE BANDIT ARM ASSEMBLY

PAGE 2

1

3

2
4



From the underside, maneuver the rock guard 7 , with the 
guard extension to the rear, around the two side closing 
system bolts and align the rock guard bracket with the rear 
most hole in the 360 BANDIT extension bracket. 

From the top, install the provided bolt 8  through the new 
support bracket, extension bracket, closing system and 
rock guard. Secure with provided nut and tighten both bolts 
with 19 mm socket. Torque bolts to 42.2 ft lbs. Ensure not 
to over tighten bolts.

Thread the nut onto set screw. Install the set screw and nut 
in to top hole of the new support strap 9  and tighten the 
screw all the way down into threaded hole. Finally, tighten 
jam nut against support brace using socket.

Place the new BANDIT support bracket 5 on top of the 
BANDIT extention bracket. 

Using one of the longer bolts and a nyloc nut provided, 
attach the new support bracket and closing system to the 
second to last back hole in the BANDIT extension bracket 

6 . The bolt should be inserted from the top and go through 
the support strap, extension bracket and then the closing 
system. 

INSTALLATION INSTRUCTIONS
WHITE 9000

STEP 3
INSTALL BANDIT ARM ASSEMBLY & SUPPORT STRAP

STEP 4
RE-INSTALL CLOSING SYSTEM

UPDATE COMPLETE

9

6

7

8

PAGE 3

6

95


